Physics 305 — Homework Set 2
Due in class on Wednesday, Jan. 29

Do the following eight problems from Griffiths:

7.3 (pg 302).
7.4 (pg 303).
7.8 (pg 311).
7.10 (pg 311).
7.12 (pg 316).

For this problem, assume that o is sufficiently small so that the magnetic field at time
t differs only negligibly from the magnetostatic solution. Also do the following part
(b) for this question:

(b) Repeat your calculation for a resistive loop of radius 2a encircling and coaxial
with the solenoid.

7.19 (pg 321).
7.22 (pg 327).
7.26 (pg 327). This is for you to see some real numbers.
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